AR

PART - A
ACCOUNTANCY
Score Score
Answer all questions from 1 to 5. Each 1 mymad 5 cuen afgld a.aloa)embene HOMES
carries 1 score. (5x1=5) | C@¥IIS 1 aapod alle. (5x1=5)
1. Which of the following is not a not for 1. moee mridemmaid e6eatgnm
profit organisation ? (el #aymm quadalmo m0gy oM
a) College oo ?
a) Gmoassd
b) Sports Club b) aqodSms gent
¢) Maruthi Udyog Lid. ¢) momal gaeypcd ldigas
d) Hospital d) o
2. The loss or gain onaccount of revaluation 2. any wmogl afledlenm maw a’
at the time of retirement of a partner is aymiaelyridepe agy@erosnd [S00Ias
shared by Mcgyamo, EMZEDI BB
4) remaining partners a) aueadlenyrm almsoglanid
h) retiring partner b) afledleam al@:os)
¢) all partners ¢) agelo wssodlanso
d) new pariner d) ayeiiw assod
3. Under fixed capital method, profit will 3. cude ayerm Afiamynidial eose oiE:0lg
be credited to §.216QemBE
a) Capital Account a) mpEm (OB IETE
b) Drawings Account b) sowoadiotsmy ARBEIOETE
¢) Current Account | ¢) @O moesyIend
d) Profit and Loss Account d) BloEMAY EREHDENE
4. In the absence of an agreement, any 4. any @csdled eeeoceid, agemEslelo
loan advanced by the partner to the auog al@sogl cuosesmanlel’ mebeal
firm is allowed an interest at the rate of goemsidd, mowalial aficudosto alefl
- p-a. matemeem @E.
a) 6% b) 5% a) 6% b) 5%
C) 12% d) 10% ¢) 12.% d) 10_%

SME 50 Accountancy with Computerised Accounting 2/11



Each carries 2 score.

R

Score

5. The excess of assets over liabilities in

non profit organisation is treated as
a) Capital

b) Capital Fund

¢) Surplus

d) Deficit

Answer any two questions from 6 to 8.

(2x2=4)

6. From the following, show the amount

of subscription to be credited in Income
and Expenditure Account.

Member subscription received

during the year Rs. 18,000

Subscription outstanding on

closing date Rs, 3,600

Subscription received in advance

on closing date —=Re . LRO0 .

. Sheeja and Shini are partners sharing
profit and losses, in the ratio of 4 : 3.
They admit Bindu as a partner of their
firm for 2/7 share which she acquires
equally from Sheeja and Shini. As an
Accountant of their firm, calculate the
New ratio and Sacrifice ratio among

partners,

Score

5. pocean@lgoeo® (wudamlsnmm

oM@ SIOWMEeaenod moull
&gl opayleid demydsaanem mlad
eEpwn cldlnendleaymma

a) ayelwmo

b) meiwmaeosE

c) dlgge

d) esad

6 aymad 8 cuenw)gs s.oloayBglad apemeilale
caemepETT EMRC agw)mis. 2 enped allao.

(2%2=4)

6. moay omideamaicd alimje goodec

@ oG Icdaull. o epee vensied nruficy
§.1EQENS CUEIMCE)@IOS s B:DME:.
@powmudiroosy) £ udatio
el ool Rs. 18,000
@RI Aleurerlan &5

srusedlayag cudloosy Rs. 3,600

mpcumsm dioume dyikeyooal

aidl n flgigs m(ﬁlﬁuaa.l‘b - Rs. 2,800

. mﬂwcngonﬁnﬁmgﬂ:ingymwrummm

2I9EMAY Rt alB:OUENM ol T
agoem. mecud eflogafiam uodalmanicd
aogl@oe) eauulgflénewio 217
@ome MEoeam Mm@ ENdH Do
mwy@ﬁ@@mnnﬁnm&
aflerngo axflofleiad aflomye MBI BOROIET.
80} @envaRd oo dlag al@ogd
BRI6S a afl@ ERMia Mo, @ pueiled
@ADINIAIHROUO DEMSOIDEE.
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Score Score
8. + ¢ journal entries for the payment 8. moevgomymM Moasalo e gl
of realisation expenses of a firm in the %wmazwéﬂmgimm*j’i mabsle
A . &L Sl i .
following circumstances. ® GTE aG)=87

a) cunonimasimysauerdl dlwaaeiamanid

a) When realisation expense is paid by 62181 @t o IBIFOAT My

a partner on behalf of the firm ? EmEd
b) When realisation expense is paid by b) mungamoe e CloaaeiETuam
the firm ? &8It Meemio
Answer any three questions from 9 to §2. 9 aymad 12 cuen cancymmglad agemelaje ajm
Each carries 3 score. (3x3=9) | CGERETIM SEMB Af) Py 3 sapad allme.
' (3%3=9)
9. Das and Prabha are partners sharing 9. aomjo (eWo a@odlege 5 1 3 agm
profits and losses 5 : 3.Vijay is admitted EemialomEEI 2106 -Magemd allmo
in the firm for 1/5 share. He is to bring oausnymamade. 1/5 @2 gl

Alm@He uodaNEEICeles (aierod
aflemymy, mragano 8,000 ayal mrbegd
Erm0aEICLImy Y. Geadermd

in Rs. 8,000 as his share of goodwill.
Draft journal entries

a) When the amount of goodwill O
retained in the business. a) e dimga agale snllmiimpid @em
; it rilacfldamynmy.
b) Wlhen 50% of the goodwill is b) 50% cuaym trodan b ayesp
withdrawn by old partners. iBoglend o fcbeuslenymy,

10. a) Show the following information in 10

. a)wmwmnﬂmm@mwmmmﬂ
financial statement of a not for profit

goem (aicudamileaym quodalman

organisation. o momiewle (uoamnald
Details Amount 0GRy,
One day football allwasovesadt LI
match expense 34,000 e} doumem aysaenod
Match Fund 17.000 @AM e1aleicel 34,000
’ QETOD A06EE 17.000

Donation for football acyisensogh axeroaad
match 10,000 PUc@OCUM 10,000
Sale of football match anpaeruacd armeslend
Ticket 9,000 alldfbom 9,000

b) What will be the effect, if Match b) amres.aeal 5,000 mj cubadienemo.
expenses go up by Rs. 5,000, other aff enonysmcbes mopdgodiiden e

I - { 1
things remaining the same ? 02180 agrmonidano aoal |
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11.

12.

Seore
Gouthami, Hridya are equal partners in a

firm. Their balance sheetason 31-12-2013

reveals the following.

Sundry Creditors  Rs. 30,000
Stock Rs. 40,000
Furniture Rs. 5,000
Machinery Rs. 15,000

To reconstitute the firm they re asses all
assets and liabilities of the firm. Prepare

revaluation account, if

a) Machinery should be inereasea
by Rs. 5,000 and furniture be
appreciated by 20%.

b) Siock should be reduced by Rs. 3,000,

¢} Creditors be reduced by Rs. 1,000 as

it is unlikely to be claimed.

Jayan, Kamal and Lal were partners in
a firm sharing profits and losses in the
ratio of 3:2:1. The profit of the firm for
the yvear ending on March 31, 2016 was
Rs. 2,00,000. Kamal died on June 30,
2017 . Calculate his share of profit/loss
for the period from April 1, 2017 to

June 30, 2017, Also write Jounal entry

for the above.

11.

12.

Score
womrl®io, a0lE\@io S@) MUOIalm
oflee meljnsoglaaoen. 31-12-20135
-08 fudesl ali®o ecuglen|SiEmymE

MIPELRISIBNROT,

Sundry Creditors Rs. 30,000
Stock Rs. 40,000
Furniture Rs. 5,000
Machinery Rs. 15,000

muodadme aljm:mesalsiaflenymailed

gomoow] @ed agpo E@ofleaie

nwimeale afllensio ojeymidepwe

eramsyern). aymd ayely oiideno @oasrosmd

G002

a) eacflmdl 5,000 oo @end cudimd]
Beldmo anbariod 20% e cubad
SEEo H.0IGPOTY,

b) egyoes 3,000 mpad dmend soayomy,

c) ol mpoum)aasomd mowjmelglo
amafimod egposs 1,000 oo e
ERIOWHMY,

g, s, 210ad agrriloud ey muodelm
omlee wa®moglaaio 3:2:1 agm
armiui@enl@ eosmayemd
almyaousaymaeymoen. 2016 mobaf
31 e mmcucrooclaam cubaHeEm M0Jalmn
afled eoso 2,00,000 mpuwomieymy.
2017 sgerid 30 0¥ esned medl 2., 2017 agpyln Ak
1 mmad 2017 gt 30 cumn@ies @REGR0
aeflend elnamainniimo SEMEnIEaNEmYo,
mpimes cmemad ag@El ag oo
£.01Q))c8.
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Score Score
Answer question No. 13 which carries 13-saemm aalosyomle 9Emoo af)Fjmie.
4 score. (1x4=4) 4 gerpod. (1x4=4)

13. gdleeimo, atddmayo n Bl TISsERDo

13. Sreckala and Sharmina are partners

with capitals of Rs. 18,00,000 and
Rs. 13.00,000 respectively. They agree
{0 share profits/losses in the ratio of 3: 2.
Show how the following transactions
will be recorded in the Capital Accounts
of the partners, in case ; the capitals are
fixed. The books are closed on

18,000,000 @ 13,00,000 aprowie
mELTe HRBIUIME0ET. ERILMES S08MAY
e ome 3 1 2 ament cudio ayeim daioied
A)FTRSKNQOETT MOSPo O NS oSt
QUEILHT EREErIETEITD EELESITTE agyomy
@oamlen. aggo ubaraye aobaf 31 o

March 31, every year. e TRAUMTG]H0o0ine
Particulars Sreckala Sharmina
allcuwsundd olael naidbdilon
Additional capital contributed

i On 30-6-2017 2,00,000  1,00,000
Interest on capital 5% 5%
Drawings 30,000 20,000
Interest on drawings 1,800 1,200
Salary 25000 e
Commission 12,000 9,000
Share in loss (2017) 50,000 30,000

Answer any two questions from 14 to 16. | 14 qymad 16 Auerweg 6.oeyge agemeeyo
Each carries § score. (2%5=10) | cons agepamias pEmee agyeimye. S aapod alleo.

i " 2x53=10)
14, Mujeeb, Niyan and Omnath are partners } =
’ . , rilquocd, &30 MOl orrflcud
in a firm, Niyan retires from the firm h. aehiad, (MR BRD O

on 1-1-2011. On his date of retirement
Rs. 75,000 becomes due to him. Mujeeb
and Omnath promise to pay him the
amount in instalments at the End
of every year. Prepare Niyan’s loan
account in the following case.

When payment is made in 5 yearly
instalments plus interest @10% p.a. on ,
outstanding balance.

Hint : while preparing loan account closing
date can be taken as December 31.

any mosumadlae alsmaglegoan’
oflaant cunosamarsiad ofirmye alledleayrmy
(1-1-2011). aledssm olgaiole
75,000 o mregan@Elal m@ddmamsns.
ageld wiwewlefwio @eAUMIMe
naosesiw erganeniind mme:omas
e HandsiEnanr asdlenio £oMole

~ ELOKGYITY, BIEKFORYT (oS00
ORI GEIDEND MR IENE GRRIO0HE .
oy enadesmal sl dfiddeamm g
@10%welln gPRegyps 5 wodadle
@l

rulalm: a6 By IeTE MQOCIBRETLI0

awlkroosrud 31 meaurom dimaoal ag)siees
TBMIENT,
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Score

15. Show the treatment of the following

16.

items of a not for profit orgamsation.
a) Legacy

b) Endowment fund

c) Sale of assets

d) Life membership fees

e) Govt grant

The goodwill of a firm is to be
calculated at 3 years purchase of their
super profit. The capital employed by
the firm is Rs.1,00,000 and the normal
rate of return is 10% p.a. the profit and

loss of the last 5 years were :

Year Profit/Loss
2011 12.000

2012 18,000

2013 16,000

2014 11,000 (loss)
2015 15,000

Calculate the amount of goodwill.

Score

15. asceanaigonm (aodamlan)m

16.

CPLACIe SDOTESIT (061 P O 60 e ol
UG TNE Ag)ETEEMNENTT L6 e,
a) eeinmi

b) agyenuoniam anens

c) mailaaes aldbalm

d) apedoimons o) adad

eb oo coond

8o] quwsadmalec mdead oel o
LEMBGIHYND @OCLINOS Mijad dpload
ded 3 mcuemagowosn. quodaim@riecd

ajewme 1,00,000 apiwie mowonem

(flane: aflees isfubaso 10% agaoen,
mpoumomenm 3 cudcdesgleoa o8
Dg6TRUd TOEPOWYTY,

Qudasto El@o/Magle

2011 12,000

2012 18,000

2013 16,000

2014 11,000 (mego)
2015 15,000

roaban dlenh ayeljo damBnIEES.
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Score Score
Answer question No, 17 which carries 8 17-00600m @.al0GYEm) SEMmMe ag)#Mmi-
score. (1x8=8) | 8 aopod. (1x3=8)
17. The following is the Balance sheet of 17. 40% : 40% : 20% agym @emymETId
K arthik, Pankaj and Ceona sharing 10BMAZ0 ABESCLBEYT s0fmafls, aEhER,

profits and losses in the ratio of
4% 1 40% : 20% as on 31-3-2018.

Liabilities Amount
(@) (@)
Creditors 30,000
Bills payable 14,000
Mrs. Karthik's Loan 10,000
Capitals :

Karthik 30,000

Pankaj 20,000

Ceona 10.000 60,000

114,000

The firm dissolved on the date of
balance sheet. On dissolution the
following activities may be happened.
Bills receivable and debtors realised for
Rs. 15,000 and Rs. 18,000 respectively.
Stock realised 20% less than the book
yalue. Furniture is taken over by Pankaj
for Rs. 12,000 and land and buildings
were sold at Rs. 13,000 more than
the book value. Creditors are paid
Rs. 27.500 in full settlement. Ceona
agreed to discharge the liability on bills
payable. Realisation expense paid by
Karthik Rs. 6,500.

You are required to prepare necessary
[Ledger Accounts to dissolve the firm.

SME 50 Accountancy with

milemosm agmilcUnles 31-3-2018 e
ruodll ali@@de EOEPOSOOSLBEYTID.

Assets Amount
(G (o)
Cash at Bank 15,000
Bills receivable 18,000
Sundry Debtors 20,000
Stock in trade 18,000
Furniture 10,000
Land and Buildings 25,000
Profit and Loss 8,000
1,14,000

eruoss almeied clgeidid madeime
afiflagaisymy, afdlag alem rooabeoTEich
m@oag 0T leurubEmmeTad MSERITNL
Bills receivable, Debtors agyrrilcueiid
@wioo 15,000 @ 18,000 oy
agiemem afdlemmy £99). agposs) @il
oy afleyes 20% @yoemmo afidiewmy
Sdoa. 12,000 aee amed aoderilald
AgERSIENMY. @dl@e SegIsalo anafl
oxify ayelermeaodd 13,000 eysymalomosn
afigar. Creditors a¥ 27,500 oyl mgl
salod alibamy, Bills payable suxwy®
IGWIET AROESISEIDTT croamaeflenyimy.
Realisation 6.alela] @:odermle: 6,500 oyt
gY@ (L.2IBRTY,

quaoaime alldayaflsymelmone)eow
e ERARTIENEEUD BP0
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PART - B
COMPUTERISED ACCOUNTING

Score
Answer all guestions from 1 to 3. Each

carries 1 score. {3x1=3)

1. BS 001-XI business studies, BS 002-XII
business studies are examples for
code.

a) Block code
b) Mnemonic code
c) Sequential code
d) Book code

[ o]

. Pick out the odd one.
& a) Peachtree

b) Daceasy

¢) Gnu khata

d) Tally

3. PMT function is used for calculating
a) Pay roll '
b) Depreciation
c) Loan repayment instalment
d) Pivot table

Answer any three questions from 4 to 7.
Each carries 2 score. (Ix2=6)

4. Write short note on the following with
example.

a) Entity b) Attributes

Score

1 b 3 cuom agigi €.ak0a)sIBBSO)p PEMRO
ag ey evamormimie 1 acpod allme.  (3%1=3)

1. BS 001-XI enfloslonepyj ggrudient’, BS 002-X1
enfloflonayl’ greullmi” agyrrmla
aesorlflaT ©RINDEETBIET,

a) eegiode) Gamonly
b) oflamosniles entrud
¢) miiexenjiba il Gemond

d) enyss) camon

2. crudlsnl @eersEss.
a) aflagale
b) cwoes eoomil
c) =lmy suomm
d) soef

3, PMT waame pricmociaeymas
SHEMBOSaNLNE M6,
a) werugendlg]
b) emamome
¢) cuog aildlgjsal auend
d) aflscuog asenllcd

4 qyoad 7 cuen canrymgint agammlage ajemm
et gEmee agiejm. 2 arped allwo.
(3%2=6)
4. MOOYIOWM E:0METBIDEE GTIOBIA00EMo
plraldilal MPIOIBHE:.
a) o @

b) mmElenygmi
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5. There are different clement in @

Chart /Graph which give more clarity to
the information. Name any four element

of a Chart/Graph.

. Differentiate between Relative cell

-

reference and Absolute cell Reference.

Computerised accounting has several
merits over Manual accounting. Name
any four merits of computensed

accounting,.

Answer any two questions from 8 to 10.

Fach carries 3 score. (2%3=6)

£. Match column A with B

+

10

A B
Count IF Logical function
ir Text function
Concalenate Statistical function

. Describe various components of salary

and deductions in relation to Payroll
accounting. Also Write the equation for

Gross Pay and Net Pay.

Write the procedure for creating a
database table with the following
details,

Empluyec Name, Sex, Date of birth,

Basic Pay.

5.

8.

10.

RN A

Score
21985, (09al ag)lUg alp) S2ISH
@owemalene” @pmosm aflaumems o
QUM MEeymaE. 210@g, el gl
uwes agomsilage 4 cesaaBgns
B lODF L.

Aleaigal emugpo arenmelys axngyo ooz
L88 QUYMDIVO ag)FiDy-

. MaWanen arasnoeElewlam @il

il ] on YGBOUTEEm mmdsynardl oo
REGOO CUEMEIRAIETES. dhont YSHOITE®
@oeemsrdiordiang egamelalo 4 vjamensdd

eI

8 qymad 11} cuen calosymmgled agomaslele
ESTRERETITT EE®o agjmids. 3 apod ke,

{2x3=0)
galmionds] ealban)d.
A B
Count IF Logical function
IF Text function
Concatenate Statistical function

Pay roll meastedlommon eumuegs

womugaTiecguge, SAOERINSTe NS
smath agemoaaawoaemm allaudlea.
moayeaione Gross Pay, Net Pay g
HIEMOMIBR MUYDCLIBC af)FMm)ds.

@O PO ANCLIRETETR ahansil e
oo eenumd asnildd PeMEISeIMEE ool
agYE LB,

Employee Name, Sex, Date of birth,

Basic Pay.
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Score Score
Answer question No. 11 which carries 5 11-0000m aassymniar gomas agvjoye.
score. (1x5=5) | 5 enpod alimo. (1x5=5)

11. Write the procedure for recording 11. e @osnvedlows emadhenid paewo

transactions of Nikitha Traders,
Emakulam with the help of anAccounting
Software.(Tally/GNU Khata)

1-1-2018 Started business with cash
3-1-2018 Opened SBT Bank Account
3-1-2018 Purchased goods for cash

6-1-2018 Cash sales

udla](Tally/GNU Khata) cfledon aisaawion,
AgOEModhiBo ag)Milaiies eSalos) s
SraiaqSiemomas procedure g i@y,
Rs. 50,000
Rs. 10,000
Rs. 8,000
Rs.5,000

25-1-2018 Purchased Fumiture from Theja Rs.6,000
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